Honors Math 2 Name H e

12.1 Period 7
State whether the dilation is a reduction or enlargement.
11 5 5
1. (x,v) = (3x,3y) 2.(x,y) = (Ex,gy) 3. (x,y)— (-;x,zy) 4. (x,y) = (.93x,.93y)
enlorgem ent reducHon enlor aem e reduction

Determine whether the dilation from Figure A to Figure B is a reduction or enlargement, then find

it scale factor.
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Yeducton k=_2 eclargemment k= 2 redu cteon k=_2
Given A ABC A(6,-1), B(-2,-4), C(1,2), FindA’, B, C’
8. Dilation: (x,y) — (3x, 3y) 9. Dilation: (x,y) — (% x,-;— y)
Translation: (x,y) = (x — 2,y — 1) Translation: (x,y) - (x+ 2,y + 1)
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Draw a dilation or transformation of the figure

10. Dilation: (x,y) = (2x, 2y) 11. Translation: (x,y) —
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A) similar; SSS similarity
B) similar; SAS similarity
_C) »similar; AA similarity
D) not similar
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A) similar; AA similarity

B) similar; SAS similarity
C) similar; SSS similarity
| D) )not similar
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{"A) Nimilar; AA similarity

B) not similar
C) similar; SSS similarity
D) similar; SAS sinularity
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A) similar; AA similarity
<$B)d) milar; SAS similarity
C) similar; SSS similarity
D) not similar

Given: 21 = 22
Prove: AABE~AACD
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Given: SR TU
Prove; ASVR~AUVT
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18. In the diagram below, AB is parallel to
DE. AB=20 inches, DE=12 inches, and
BC=15 inches. What is the length of DC?

90 = 15
(3 X
Oy = \%Q

19. In triangle STR , QP and TR are parallel.
If SQ = 6 units, QT = 24 units, and the
perimeter of triangle SQP is 20 units, what is
the perimeter of triangle STR ?
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20. Assuming the two triangles are similar,
find the tower's height from the given
measurements below.
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21. Find the value of x that makes A DEF ~A XYZ

23. Decide if the two triangles are similar, if they
are write the similarity statement.
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If the scale factor from ACAT to ADOG isg and

25. Are the two triangles similar? If they are state
why and write a similarity statement.

CA = 15,AT = 12 and CT = 9 what is the length of A A ADE A
the longest side of ADOG? What is the perimeter of
ADOG? - ),;,)‘: Wes } side A A
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19. Your friend claims that A JKL ~A MNO by SAS
Similarity Theorem when JK = 18, m4K = 130°,

20. Determine if the two triangles are similar. If they
are, find the scale factor of AA to AB.

KL =16,MN =9,m«N = 65° and NO = 8. Do a A
you support her claim? Explain your reasoning. ‘\2 a
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Use the following diagram for questions 23-30.
23. ACAG ~|ACEF 24. ADCF ~ |ABC G 25. AACB ~ |AECED
26. mLECF =| o 27. meECD =| §n° 28. meACB =| 49
29, (F = 19 30. BC = |\YYy32 31. DE = 2




